	CIS 2168 – Quiz #2

	Name:




	Q1: 2 points
Which of the following is correct 

· a class can implement more than one abstract class

· a class can extend more than one abstract class

· a class can extend only a single class, no matter if abstract or not 

· a class can extend more than one concrete class

· a class can extend one concrete class plus one abstract class

	Q2: 2 points
To make a button visible on the screen, it must be
· Added to a visible container-object, e.g. JFrame

· Activated by ‘addActionListener()’

· Created only, calling the constructor automatically shows the button on the screen

	Q3: 1 point
Bring the six steps of creating a GUI into the right order:
Add components, apply layout, register listeners, show it to the world, import packages, set up top level container

1._______________________                     4._________________________

2._______________________                     5._________________________

3._______________________                     6._________________________

	Q4: 2 points
Name at least 3 layout types:



	Q5: 2 points
A layout’s duty is

· To register event listeners to events

· To provide methods that are needed to implement interfaces

· To organize and define the visual appearance of GUI elements


